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const int MAXN=15,MAXV=5e5+5;
const LL inf=1el8;
int a/MAXN];
LL dis[MAXV];
bool vis[MAXV];
void dj(int n
priority queue<pair<LL,int> >q;
g.push(make pair(0, ;
_for(i,1,a
dis/i/=inf;
Iq.empty
int u=qg.top().second;q.pop();
vis|u
vis|ul|=true;
_for(i,1,n
int v=(u+alil)%a yw=alil;
dis(v/>dis|ul+w
dis/v/=dis|ul+w;
g.push(make pair(-dis|v],v));
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LL calc(LL val
LL ans=0;
_for(i,0,a
dis|il<=val
ans+=(val-dis[i])/a +1;

ans;

int main
int n=read int();
LL gql=read LL(),qr=read LL();
_for(i,0,n
alil=read int();
sort(a,a+n);
djin);
enter(calc(qr)-calc(qgl- :
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const int MAXN=5,MAXV=6e4+5;
const LL inf=2el8;
int d[MAXN];
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vector<pair<int,int> > g/MAXN]|;

LL dis[MAXN![MAXV];

bool vis[MAXN| MAXV];

void dj(int n
priority queue<pair<LL,int> > q;
g.push(make pair(0, ;

_for(i,0,4) for(j,0,n
dis[i]|[j|=inf,vis|i][]j|=Ffalse;
dis =0;

Iq.empty

int ul=q.top().second;
int u2=(-q.top().first)%n;
q.popl);
visiul] lu2
visiul| u2|=true;
pair<int,int> p:glul
int vl=p.first,w=p.second,v2=(u2+w)%n;
dis(vl][v2]/>disul] [u2]+w
disivl]| v2]|=disiul] u2]|+w;
g.push(make pair(-disivl|iv2],vl));

LL calc(int val,LL k

LL ans=inf;
_for(i,0,val
dis il>k
ans=min(ans,dis i]l);
ans=min(ans,dis il+(k-dis il+val-1)/val*val
ans;

void solve

LL k=read LL();

_for(i,0,

gli].clear();

_for(i,o0,
dii|=read int();
gli|.push back(make pair((i+1)%4,d[1i
gl (i+1)%4|.push back(make pair(i,d|i

.
’

dj(2*d ;
enter(calc(2*d JK) )
int main
int T=read int();
T--
solve( );
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const int MAXV=4e7,MAXN=1e5+5,MAXQ=1e4+5;
const LL inf=1el8+5;
int prime MAXV],pcnt;
bool vis[MAXV];
void Init
_for(i,2,MAXV
lvis[i])prime|pcnt++=1;
int j=0;j<pcnt&&i*prime|j | <MAXV; j++
vis|[i*primelj||=true;
i%primelj|==

1

vector<LL> g;
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void get frac(LL n
g.clear();
_for(i,0,pcnt
nsprime|i==
g.push back(prime[i]);
nNsprime(i|==0)n/=prime[i];

n'=
g.push back(n);

int quick pow(int n,int k,int mod
int ans=1;
k
k&1 )ans=1LL*ans*n%mod;
n=1LL*n*n%mod;
k>>=1;

ans;

LL dis[MAXN];
void dj(int n
_for(i,0,n
dis[il=inf;
vis|i|=false;

dis =0;
priority queue<LL> q;
g.push ;
Iq.empty
int u=(-q.top())%n;q.pop();
visiu
vis|ul=true;
_for(i,1,g.size
int v=(u+g/i])%n;
dis/vi/>dis|ul+gl1i
dis/v/=dis(ul+gii];
q.push(-dis|v]);

bool query(LL n

g.size()==
false;
g.size()==
n%g01==0;
g.size()==
LL x=g Y=g ;

int b=(n%x)*quick pow(y%X,Xx-2,X)%X;
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y*b<=n;

int m=g ;
dis|[n%ml|<=n;

map<LL,vector<pair<int,LL> > >mp;
bool ans[MAXQ];
void solve(LL k,vector<pair<int,LL> > a
get frac(k);
g.size()>
dj(g y
pair<int,LL> p:a
ans|p.first|=query(p.second);

int main
Init();
int g=read int();
_for(i,0,q

LL n=read LL(),k=read LL();
mp|k!.push back(make pair(i,n));

map<LL,vector<pair<int,LL> > >::iterator
iter=mp.begin();iter!=mp.end();iter++
solve(iter->first,iter->second);
_for(i,0,q
ans|1i
puts("YES");

puts("NO");
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